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QUESTION 1

An index file can be accessed by how many index servers at a time? 

A. 1 

B. 2 

C. 3 

D. Unlimited 

Correct Answer: A 

 

QUESTION 2

A development department is submitting XML files to the IBM FikeNet Content Management system for a particular
business project. The business users do not want to search for certain elements in the XML documents. 

What two document requirements must be satisfied in order for an element in an XML document to be filtered and non-
searchable? 

A. Have a single XML rootelement. 

B. Have multiple XML root elements. 

C. Have XML filter tags embedded within the content. 

D. Be the sole content element for the content Platform Engine object to which it belongs. 

E. Be specified on a custom property for the Content Platform Engine object to which it belongs. 

Correct Answer: AD 

Reference:https://www.ibm.com/support/knowledgecenter/en/SSGLW6_5.2.0/com.ibm.p8.ce.admi
n.tasks.doc/cbr/csscbr_surplusxml_setting.htm 

 

QUESTION 3

A customer has created an application that manages their documents throughout their lifecycle. Which two state
changes are handled by the methods of a lifecycle action? 

A. active 

B. demote 

C. inactive 

D. approval 

E. promote 
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Correct Answer: BE 

Reference:https://www304.ibm.com/support/knowledgecenter/SSNW2F_5.2.1/com.ibm.p8.ce.admin.tasks.doc/lifecycles
/l c_concepts_lifecycles.htm 

 

QUESTION 4

What is a user implemented action that the Content Engine system performs when a document moves from one state to
another called? 

A. Event action. 

B. Publish action. 

C. Lifecycle action. 

D. Versioning action. 

Correct Answer: C 

 

QUESTION 5

Which of the following is true about the Directory configuration properties (User tab) -> User Search Filter property? 

A. The search filter must contain a clause with "cn={0}". 

B. The search filter is read-only and cannot be modified. 

C. The search filter must contain a clause with "objectClass=user". 

D. The attributes supplied to the search filter may be specific to the directory provider. 

Correct Answer: D 
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